KOCQ UNIVERSITY

MATH 101 - FINITE MATHEMATICS
Midterm 1 Feb 25, 2020

Duration of Exam: 80 minutes

INSTRUCTIONS: CALCULATORS ARE ALLOWED FOR THIS EXAM.
No books, no notes, no touching cell phones and no talking. You must always explain
your answers and show your work to receive full credit. Use the back of these pages
if necessary. Print (use CAPITAL LETTERS) and sign your name, and indicate
your section below.

Name:

TN =
— U

Signature:

Section (Check One):

Section 1: E. Sule Yazic1 Tu-Th(13:00) —
Section 2: E. Sule Yazict Tu-Th (16:00) —
Section 3: Mine Caglar Tu-Th (08:30) ——
Section 4: Selda Kiigiikeifei M-W (14:30) —

| PROBLEM | POINTS | SCORE
1 16
2 20
3 15
4 25
5 28
TOTAL 104




A list of formulas: I = Prt; A= P(1+rt)
A=P(1+i" APY =(1+Z)"—1; A=Pe"; APY =¢" -1,
FV = puT = py — py T where § =  and n = mt

1. (16 points) Solve the following equation.
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2. (20 points) What annual nominal rate compounded monthly will double your investment

in 70 months?
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3. (15 points) Your insurance company offered an annuity that pays 6.65% compounded
monthly. If $500 is deposited into this annuity every month, how much is in the account

after 10 years? How much of this is interest?
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4. (25 points) An investor purchases a house for § 65,000 for investment purposes, holds
the house for 21 months, and then sells it for $ 82,000. While both buying and selling the
house, a real-estate agency helps the investor and gets a commission from her in exchange
for this help. The commission is 1.7% of the transaction, whether buy or sell. What annual

rate of interest is earned by this investment?
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5. (28 points) A person bought a house with a 20% down payment and finance the remaining
amount with a 10 year mortgage that charges 1% interest per month on the unpaid balance.
If his debt payments are $1000 each month,

(a) How much did the house cost?
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(b) How much interest did he pay during the first year of his payments?
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